
Two-Digit Addition (J)

28 + 71 = 11 + 38 = 45 + 11 =

72 + 21 = 12 + 57 = 31 + 65 =

74 + 22 = 15 + 44 = 43 + 23 =

74 + 22 = 21 + 71 = 21 + 41 =

45 + 14 = 51 + 47 = 25 + 23 =

55 + 22 = 17 + 42 = 53 + 26 =

62 + 22 = 66 + 23 = 14 + 85 =

17 + 62 = 35 + 22 = 22 + 23 =

76 + 22 = 11 + 24 = 26 + 32 =

46 + 22 = 34 + 31 = 12 + 22 =

86 + 12 = 35 + 61 = 51 + 15 =

Free Math Worksheets at http://www.math-drills.com



Two-Digit Addition (J) Answers
Note to teacher: None of the questions on this worksheet require regrouping.

28 + 71 = 99 11 + 38 = 49 45 + 11 = 56

72 + 21 = 93 12 + 57 = 69 31 + 65 = 96

74 + 22 = 96 15 + 44 = 59 43 + 23 = 66

74 + 22 = 96 21 + 71 = 92 21 + 41 = 62

45 + 14 = 59 51 + 47 = 98 25 + 23 = 48

55 + 22 = 77 17 + 42 = 59 53 + 26 = 79

62 + 22 = 84 66 + 23 = 89 14 + 85 = 99

17 + 62 = 79 35 + 22 = 57 22 + 23 = 45

76 + 22 = 98 11 + 24 = 35 26 + 32 = 58

46 + 22 = 68 34 + 31 = 65 12 + 22 = 34

86 + 12 = 98 35 + 61 = 96 51 + 15 = 66
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